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‘f'_‘|§_ 163 E(X)=1x0.15+2x(0.1+0.15+0.05) +3 % (0.05+ 0.1) + 4% (0.1+ 0.15) +5 > (0.05 +0.1) E(X)=1x0.15+2%(0.1+0.15+0.05) + 3> (0.05+0.1) + 4 (0.1+ 0.15) +5 % (0.05+0.1)

=295
E(Y)=1x

E(XY)

<(0.15+0.1) +2 % (0.15+ 0.05) + 3 < (0.05 + 0.1+ 0.1) + 4 < (0.15+ 0.05) + 5 X 0.1
2.7

=(1x1x0.15)+
+(4x3x%0.1)+

=91.25

(2%x1x%0.1)+(2x2x0.15) +
(4x4x0.15)+

(2%3%0.05)+ (3x2x0.05)+(3x3x0.1)
(54 %0.05)+ (5 5x0.1)

E(X%)=1%0.15+22x (0.1+0.15+0.05) + 32 X (0.05 + 0.1) + 4% X (0.1+ 0.15) + 5% x
=12.85
BE(¥)=1x

=9

(0.05+0.1)

(0.15+0.1) +2* % (0.15+0.05) + 3% > (0.05+0.1+0.1) + 4%  (0.15+ 0.05) + 52 X 0.1

Var(X) = B(X?) - B(X)?

=12.85—(2.95)* =4.1475
Var(Y)=E(Y) - E(Y)

=9-(27?%=171
Cov(X. Y)= E(XY)— E(X)E(Y)

=21.25—2.95 X2.7=13.28
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=2.95

E(Y)=1%(0-15+0.1) +2 (0.15+0.05) +3 < (0.05 + 0.1 +0.1) +4x (0.15+ 0.05) + 5 < 0.1

=i

E(U’):(lxlyola) (2X1x0.1)+(2%x2x0.15) + (23 0.05)+ (3X2x0.05)+(3x3 x0.1)

+(4%3%0.1)+(4x4x0.15) + (54 % 0.05) + (5 5%0.1)
=9.55
(X% =12%0.15+2 (0.140.15+0.05) +3 % (0.05+ 0.1) + 4> x (0.1+ 0.15) + 5 % (0.05+0.1)
=10.45
E(YY)=12%(0.15+0.1)+2* X (0.15+0.05) + 3* ¥ (0.05+0.1+0.1) + 4% < (0.15+ 0.05) + 52 ¥ 0.1

=9
Var(X) = E(X?) - BE(x)?
=10.45—(2.95)* =1.7475
Var(Y)=E(Y) - E(Y)}
=9-(27)?%?=1.71
Cov(X. Y)= E(XY)- E(X)E(Y)
=0.55—2.95% 2.7=1.585
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